Trigonometry T/27

Drawings on this sheet are NOT to scale.

1. Inthe drawing on the right ABCD isasquare. A B
AP=5cm QC=7cm PB=12cm
Calculate

(a) the size of the angle marked x

(b) the length of AB P
(c) the length of DQ

(d) thelength of PD

(e) thesize of ZBQD D—3 C

In the drawing on the left CDEF is a square.
EF=47cm ZBCF=36° £ZBAE=28°
Calculate the lengths of

(a) BF
(b) AB
D (c) AD

3. KLMN isatrapezium with LM parallel to KN.
ILM=84cm KN=19.6 cm
KL =10.7cm ZLKN=58°
Calculate

(a) the perpendicular distance between the parallel edges |
(b) the area of the trapezium ] |

. . K N
(c) the perimeter of the trapezium.

4. B C ABCD is a parallelogram
AB=3.8cm BC=79cm £ BAD=48°
Calculate

(a) thearea of the parallelogram
A D (b) the length of the longer diagonal AC.

5. Inthetriangle PQR, S is the foot of the perpendicular from Q to PR.
QS=7.5cm ZQPR=75° L QRP=40°

Calculate |
(a) thelengthof SR |
(b) the length of PS |
(©) the length of QR }
(d) the perimeter of triangle PQR |
(e) thearea of triangle PQR. |
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\ ‘ / Trigonometry T/27

Drawings on this sheet are NOT to scale.

1. Inthe drawing onthe right ABCD is a square.
AP=5cm QC=7cm PB=12cm
Calculate e 2 A
(@) ypy 3 (a) the size of the angle marked x ARV
S (b) the lengthof AB N719 timy +7
(c) thelengthofDQ 3. 9/ g ,f
(d) thelengthofPD & §/ (.
(e) thesizeof ZBQD /22047

In the drawing on the left CDEF is a square.
EF=47cm ZBCF=36° £BAE=28°
. Calculate the lengths of

(@ BE 3.%/em 4
g (b) AB (728 ¢py v/
A (c) AD /9. 96 (m V/

3. KLMN is a trapezium with LM parallel to KN.
LM=8.4cm KN=19.6 cm

M
KL =10.7 cm ZLKN=58°
Calculate 9.07 Chq 01 /1 J}
(a) the perpendicular distance between the parallel edges |70 7¢
(b) the area of the trapezium 127 0 4 (m* K SEvh . h
¢) the perimeter of the trapezium. 547
ABCD is a parallelogram
AB=3.8cm BC=79cm ZBAD=48°
Calculate 2237 2
(a) thearea ofthe parallelogram ;ﬁ@ tn
(b) the length of the longer diagonal AC. /@67 ¢m
o B 7. 2177 jG’J’.?- oy,
o 2y - e 4

5. Inthetriangle PQR, S is the foot of the perpendicular from Q to PR.
QS=7.5cm ZQPR=75° L QRP=40°
Calculate
(a) thelengthof SR § .7 ey v
(b) thelengthofPS 9 . 0o ¢qy v
(c) thelengthof QR /7. (1 cn v /
(d) the perimeter of triangle PQR 3?0 . 26 ¢y,
(e) theareaoftriangle PQR. #0 -f 7§ Cim /

Q

© CIMT; University of Exeter 2000 {trolPT:25}




